Intermediate Exam-2021

MODEL QUESTION PAPER
SET -1
ACT
(Class XII™) (I.Com)
Time Allowed : 3 Hours Full Marks 80
ugst Objective questions :- 20x1=20

1. fooar & A Bra ot BHATA dreil JIRAT T8l 2|

Which of the following is not a nonprofit organisation.

(A) HaTreramer=r College (B) erer #ed Tata Moters
(C) IeTwme a=a Sports Club (D) &r=fiear Hospital
2. TARIG BI HATelell ATNSE— Legacies should be treated as.
(A) TT=Ia Liability (B) 3T=IeTd WTtd Revenue Receipts
(C) 3= Income (D) sSaid F s <&l None of these

3. TP ARDER BH H ADSRT B 3fehdd JASAT al Adbdl 2 |

In an ordinary partnership maximum number of partners can be.

(A) 10 (B) 20
© 30 (D) 40
4. ATIST JAHASNAT 8 JAhdl &— Partnership agreement can be.
(A) 1R Oral (B) f&Raa Written
(C) #Rms o1 falaa (D) @IS =&l None of these

Oral or written
5. JAAAT 3ferest &la &— Equity share holders are.

(A)BFTelt B ofeiary Creditors of the company
(B) BdTell @ IaTrdHT Owners of the company
(C)waueit & ATads Customers of the company

(D)Seldd A bis ofaf  None of these
6. ziad & — Goodwill is-

(A) Jd AFafa Tangible Assets (B) 31dd Jeufa Intangible Assets

(C) =rmeg, AFutr Current Assets (D) setdt A pIs =&l None of these
7. JARra arer 3R JFTT BT E3ATedR0T AT SO |

The accumulated profit and reserves are transferred to-

(A) TIcT BT H Realisation Account (B) b FTd H Bank Account

(C) Ysil JTad & Capital Account (D) saTd A Bt A =&t None of

these

8. altred @t | AT A JfdHAfea &t 2
Total amount of liabilities side includes the following.

(A) 3iferaga goit Authorised Capital — (B) TeToffdta GsiT Issued Capital
(C) urffa ysit Subscribed Capital (D) gasar gsit Paid up Capital



10.

11.

12.

13.

14.

15.

16.

17.

SRUTUST €T3 UTed b3d &— Debenture holders receives.

(A) arerrer Dividend (B) =IToT Interest

(C) & Profit (D) setdt A IS =@l None of these
SROTOSl oNelel WTHTA JMar & Premium on Redemption of Debenture A/C is
(A) =fdRTord JTAT Personal A/C  (B) dar=afdes JmdT Real A/C

(C) araHa#AT FTAT Nominal A/C (D) sadt A s =@t None of these
M- JTAaT 8— Income & Expenditure A/C is-

(A) =ferTora =mar Personal A/C (B) dar=afdaes zmar Real A/C
(C) <araTs =mar Nominal A/C (D) setdt A IS =@l None of these
IMT-TT JTd A T=ET Sirar -

Items recorded in Income & Expenditure A/C is
(A) dghlord #Ae Capital Items (B) 3m=rota HA< Revenue Items

(C) <arat Both (D) sad A s A&l None of these
Uk ATISTE A P 3MMa9TPb dod oTal a-—

Essential elements of a partnership firm except.
(A)BH A BHA & AfRT At least two person

(B) TFaft s1ofle™ar & it W JaAsiiar There is an agreement between all partners.
(O) FATH 3R FgabATel BT aRraR &A1 Equal share of profits & losses.
D) =raarr & fau AHErSt JASAar Partnership agreement is for some business.

BH B AT AP bl JAdel a-—

The relation of partner with the firm is that of

(A) TUa HATTAPB An owner (B) UWs Toie An Agent.
(C) Wep HMAB 3T T Tolie (D) yaerss Manager.
An owner & An Agent.

TUh ATISE A H HAONSRT Bf JABAT & Abdl a—
Number of partners in a partnership firm may be
(A) 31ferebdar & Maximum Two (B) 31ferebddr @A Maximum Ten

(C) 3aiferebadd AT Maximum one (D) 3iferhddd UdATA Maximum Fifty

Hundred
ATHER BT qITad siar & — Liability of partner is-
(A) 3T Limited (B) 3r=fitdra Unlimited

(C) =Imaret g1 fererfi3a Determined by the Court.
(D) AT rferferrar g1 ferert3a Determined by the partnership Act.

TUh HUel B...... A Company has .....

(A) 3TSTOT hTefell Thle Separate legal entity.
(B) zer=ft 31R3daa - Perpetual Existence.
(C) fHT S=rar Limited liability.

(D) 3u=rad JafT  All of the above.



18. Udh HUsl Bt goit bl shrgal A fFenfora fear smar 8 ™= war

STaTr 21
(A) 3ruT U Debenture (B) <r=1= Share
(C) Zper Stock (D) wfs Bond
19. RIee & ST #19T BI BaT Sl a— Left side of Balance sheet is called.
(A) Jgfaat Assets (B) =1¥rea Liabilities
(C) arat Both (D) Tad A BIs =8t None of these

20. fereafaRaa & Hra—AT bt b1 Aa 8 a-

(A) 9==T o1 Terotader Issue of shares.
(B) ALt @I I1<Ie  Purchase of Machinery.
(C)Aufat @r farest Sale of Assets.
(D) eareTier uTfta Dividend received.

Rerer Temer 813 Fill in the blanks :- 12x1=12
21. ATHET AN Tl ............. 21 Forming a partnership Deed is .........
22. T UH ............. Zafr 8- Goodwillisan .............. Asset.
23. Yoldicichel FATAT H ATH UgT UIT GIHT Ul I &I ... X

Excess of the credit side over the debit side of Revaluation Accountis .........

24. IqE HIS ATISR 3IABIT AT H3dl &, dl 3T AT B oATeT

fraTTotel 31gUTd H oo et 2
If a partner retires, other partner have a .......... in their profit sharing ratio.
25. HIIYET ATFCAIT ........... FFTT BT TH 3ITTE0T & |
Computer software is an example of .................. Assets.
26. JHAT I PBUA B .......... g &
Equity shareholders are .......... of the company.
27. ITQUemdt ... UTed @2d &1 Shareholders get ..............
28. FRITGAT Bl ............ T g @t feem o JAwar B

Debentures cannot be redeemed at ..........

29. 9E wmrbefa gt = dlep, Aufaar — ...
Net Working capital = current Assets — .................

30. FOId BRI UTd 3Moilded ASIAT ATH oo # fezmem smar g
Life membership fee received by club is shownin ......................

31. ARERT Bl dlcf, JTAT JcTell aAMEC ST Yol .............. &l
Current Account of the partners should be opened. When capitals are ...........

32. 3ffcisa R &7 gadicdicea Jmdal & ... uel H forzm Smar 2
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aifer g 3T wear  Very Short Answer Type questions :- 8x2=16

UItd Ud ofoTdTel HTAT 3R Jbs I8l H P Udb 3Ted IdTSU |

Give any one difference between Receipts and Payment A/C and a Cash book.

ad B USRS ATE B UAHA Ga JTATT RIS B 3EIr U =ATel
HI o1l foFA UBR @I ?

How will you calculate interest on drawing of equal amount on the first day of the
every month of a year.

T Uit 31Ut &bl 3 IdTsC |

Give the formula of calculating Gaining Ratio.

ATAST BT Yelotesl =T & ? What is the reconstitution of partnership?

TUh HH B od did a8 P o SHA UblE &— 2017— O
200000, 2018—»0 300000, 2019—>»0 100000 NI e
P ITOTSAT BITSIT |

The profit for the last Three years of a firm were as follow-2017-Rs.200000, 2018-
Rs.300000, 2019-Rs.100000 Calculate the Average profit.

AR B ARPHER &1 CH 1/4 #ART & 7T uder G=m smar 21 A
3R B oI ToT 3igfuld o=IT & |

A and B are partners. C is admitted for 1/4™ share. What is the sacrificing ratio of A
and B.

AR BH B fdgce A =T 3T & ?
What is meant by dissolution of partnership firm ?
Hagelt @t feroffda dolt I o= Jaga €2

What do you mean by issued capital of company ?
&g 3T3g ueam  Short Answer Type questions :- 4x4=16

ABC g & Tou foreer J@amr A ad 2019 & fo@ g=s 3 3m @bt
JTUTSAT BHITSIT |
Calculate the income from subscription for the year 2019 from the following

information of ABC Club.
Date 01.01.2019 31.12.2019
3TTara uTeT TeaT Amount Rs. 10,000 Rs.4000

(subscription received in advance)

ad 2019 #H U @A T&T 40,000 HUA &1 IFd H FeT 300
JRT B USRS AT H0 200 Uy ad gawrar B

The Subscription received during the year 2019 is Rs. 40,000. There are 300
Members in the Club, each member pay Rs. 200/-p.a.

XY 3T Z 5:3:2 & 3FFUd H AR 81 Z, X A 1/5 HOT Ut
HET 1 X, Y A 1/20 o167 UTd HAT &1 o7 o1 fJaqrster srgura
ST HIfeE |

X, Y and Z are partners in the ratio of 5:3:2. Z acquires 1/5" share from X. X
acquires 1/20™ share from Y. Find out the new profit sharing ratio.

01.01.2019 I IHA ToAfdHcs o oImH faifdcs I Ho 40,000 @t
Uk HFALMET oy Bl THAH A HO 10,000 ded Jbl &I qer
0 30,000 @ 12% dTel >RUTTST GRT fordiel fpam o=mi e



44,

45.

46.

70 @t geasml # 3maedss ufdfteal Hiteo |

Ram Ltd. Purchased Machinery worth Rs. 40,000 from Shyam Ltd on 01-01-2019,
Rs. 10,000 were paid immediately and the balance was paid by issue of Rs. 30,000
at 12% debentures. Pass the necessary Journal entries in the books of Ram Ltd.

foTeataiRaa A dicl, 37T dst ITvTeT HIfeiu |

From the following, compute current Ratio.

In Rs.

@eT AFaTaAT Total Assets 100000

3iererst I Shareholders fund 60000

31T dTef, ¢da1d Non current liabilities 20000

SR—are], AFutAAT Non current Assets 50000
& 3T uest Long Answer Type questions :- 2x8=16

amefiy ferfdes ¥ o 100 URAF® T AT & 10,000 JAHAT 3ier
feoffdra o S uzT 2 S 3mdeda uT o 25, 3Mded U<
0 25, UIH HOT UT HO 25 dAT AW HO 25 3ifeadd Hiol U
21 Faft 3iel uzr yot »u A 3tfdrerer e fear o em, Ryar
U 3ieremst & sy 100 3iel & U 3mdeer fBem o1 Afdmer
aifcdd HfoT ATRT BT fordlel el THATI A olad—<ea & Jad &
JsterdHar ufafteat aSifee |

Aashish Ltd. Issue 10000equity shares of Rs. 100 each payable at Rs. 25 on
application, Rs. 25 on allotment, Rs. 25 on first call and the balance Rs.25 on final
call. All the shares were fully subscribed and paid except of a shareholder having
100 shares who could not pay for the final call. Give journal entries to record these
transactions.

foafeiRaa A udaraa a3l A Abs-Udig bl I0TaT  BITSIv |
Compute Cash flow from the operating Activities of the following.
f&a2or Particulars 31.03.2018  31.03.2019

TaTi3es UT=IaTy. Trade receivable 2,50,000 2,05,000
Jdfeoer srurgsl & fA@ 3m=sia Provision for 20,000 25,000
doubtful debit.

STUTi3as aIaTe@  Trade Payable 1,00,000 1,10,000
geduest (Inventories) 4,00,000 5,00,000
3UTheid 31T 10,000
JqBe T Abs AAGSS 50,000 70,000
Cash & Cash Equivalents

3Trferes 3TcUdhlciiel feraer 30,000 50,000

Very Short term Investment.

31 #ME, 2019 &I JAATT sediedl a8 P @ a7 Ho
5,00,000 &~ & fT F0 50,000 3MATelel B UAI |

Profit for the year ended 31-03-2019 Rs. 5,00,000 after providing for depreciation
Rs. 50,000.



